
GRUPPO SQUEGEE FLICK / QUICK '16 - Content filters: validity 05/04/2019

R55092172 - GRUPPO SQUEGEE FLICK / QUICK '16
Validity: from 20/02/2017 to 31/12/9999

05/04/2019

Page 1 / 2

1

2

3

4

5

9

10
10

10

16
14

13

6

6

6

8

11

12

157

10

D55092172/01

14



GRUPPO SQUEGEE FLICK / QUICK '16 - Content filters: validity 05/04/2019

R55092172 - GRUPPO SQUEGEE FLICK / QUICK '16
Validity: from 20/02/2017 to 31/12/9999

05/04/2019

Page 2 / 2

Pos. Code Substituted by Q.ty Purchasable Min. Q.ty For mainten. Description

001 5.513.0313 1 Yes 1 FERMA LAMA POSTERIORE SQG. QUICK

002 4.507.1554 1 Yes 1 FERMALAMA ANTERIORE QUICK

003 4.508.1101 1 Yes 3 ORD LAMA POSTERIORE SQUEGEE GOMMA NATURALE 590X50X3

004 4.508.1100 1 Yes 3 ORD LAMA ANTERIORE SQUEEGEE GOMMA NATURALE 537X50X1,5

005 4.508.1039 1 Yes 2 VACCUM RACCORD

006 4.508.1102 3 Yes 12 RUOTA SQG D.35 QUICK '16

006 6.505.0082 1 Yes 2 KIT 1 RUOTA d.35 SQG. QUICK VERS. â€™16 / DYNAMIC

007 3.099.1226 1 Yes 1 SPHERE CONNECTION

008 5.513.0245 1 Yes 1 SWINGING SQUEEGEE SUPPORT

009 3.200.0212 1 Yes 6 O-RING

010 3.099.0477 6 Yes 5 KNOB M6 (THREADED PASS-THROUGHHOLE)

011 4.507.1273 1 Yes 2 LIFT SQUEEGEE CABLE FORK

012 4.507.1245 1 Yes 1 SQUEEGEE SUPPORT

013 3.002.0822 2 Yes 12 SCREW M6 X 45

014 3.002.0820 2 Yes 12 SCREW M6 X 35

015 3.002.0820 2 Yes 12 SCREW M6 X 35

015 4.507.1130 1 Yes 1 SQUEEGEE BALLAST

016 4.507.1130 1 Yes 1 SQUEEGEE BALLAST

016 4.508.1557 1 Yes 1 SQUEGEE

017 4.508.1557 1 Yes 1 SQUEGEE


